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[RF A KER M R (REHRYD)

No.171 %4 KESEME BERKEF KA (RFHD)
No. | *222 | wimrs AEA mEAR | oS # -
5 [a] Air 8]
1 2-9 XEH | KEOM) 11A178 0.24 0.30
2 2-10 REF | THK 11A178 0.24 0.40
3 3-1 XEH | KE(2) 11A178 0.27 0.20
4 3-8 REH | KEB) 11A178 0.33 0.37
5 3-9 XEH | KE@) 11A178 0.32 0.40
6 4-1 REH | KE(B) 11A178 0.33 0.21
7 4-2 XEH | KE(6) 11A178 0.24 0.20
8 4-3 REHN | KE®) 11A178 0.23 0.20
9 4-4 XEH | KE(®) 11A178 0.26 0.19
10 4-8 REHN | KE(9) 11A178 0.33 0.38
11 5-1 XEH | KEO(0) 11A178 0.30 0.22
12 5-2 REF | KEO1) 11A178 0.33 0.21
13 5-3 XEH | KEOM2) 11A178 0.24 0.23
14 5-4 REF | KEO3) 11A178 0.20 0.19
15 5-5 XEH | KEO(14) 11A178 0.16 0.15
16 5-6 REF | KEO5) 11A178 0.20 0.16
17 5-8 XEH | KEO(16) 11A178 0.30 0.34
18 6-3 REF | KEO7) 11A178 0.30 0.19
19 6-4 XEH | KEO18) 11A178 0.26 0.21
20 6-5 REF | KEOM9) 11A178 0.27 0.18
21 6-6 XEH | KE(20) 11A178 0.17 0.15
22 6-7 REF | KE(21) 11A178 0.19 0.15
23 6-8 XEH | KE(22) 11A178 0.16 0.22
24 6-9 REF | KE(23) 11A178 0.21 0.22
25 7-3 XEH | KE(24) 11A178 0.45 0.31
26 7-4 REF | KE(25) 11A178 0.26 0.22
27 7-5 XEH | KE(26) 11A178 0.35 0.22
28 7-6 REF | KE(27) 11A178 0.27 0.25
29 7-7 XEH | KE(28) 11A178 0.23 0.19
30 7-8 REF | KE(29) 11A178 0.21 0.18
31 7-9 XEH | KE(30) 11A178 0.29 0.24
32 7-10 REF | KE(B1) 11A178 0.17 0.12
33 8-3 XEH | KE(3B2) 11A178 0.51 0.42
34 8-5 REF | KE(B3) 11A178 0.37 0.28
35 8-6 XEH | KE(34) 11A178 0.24 0.24
36 8-7 REF | KE(35) 11A178 0.28 0.24
37 8-8 XEH | KE(36) 11A178 0.30 0.27
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No. | *|  wlrst A A mEAR | oS # £
5 (8] GOIE
38 8-9 RXEH | KE(37) 11A178 0.29 0.25
39 8-10 RXEF | KE(38) 118178 0.21 0.19
40 9-8 RXEH | KE(39) 11A178 0.22 0.21
41 9-9 XEHF | KE(40) 118178 0.42 0.37
42 9-10 RXEH | KE(@41) 11A178 0.20 0.18
43 | 10-10 XEF | KE(42) 118178 0.44 0.34
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